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BEAEK AT MATERF —Cut) LBR:36

By DEFEIBEL : F b fELAR—ILNo. 1 3 45 8 9 111213 1516 18
B K 2| ouT | IN |TOTAL HDCP @ NET | f& = |
T F E N & 45 42 87 15.6 714 | %
2 B B X B 40 46 86 14.4 716 | %
3 |k 27 K & 43 42 85 13.2 718 | %
4 R N 2 43 42 85 13.2 718 | %
5 IR OF o 41 45 86 13.2 728 | %
6 | 1E A< KW 37 42 79 6.0 730  *
70 %FH M OF O 39 39 78 48 732 | %
8 % th A B 46 37 83 9.6 734 | %
9 & B R % 44 37 81 7.2 738 | %k
10 | 3 # (B 45 41 86 12.0 740 | %
"n & B X x 49 42 91 16.8 74.2

12 [ p B = 44 40 84 9.6 74.4

13 |/ RO 43 46 89 14.4 74.6
14w HM B 2 43 40 83 8.4 74.6

15 /N R X & 45 43 88 13.2 748 | %
16 /n H B E 44 43 87 12.0 75.0

17 | & B B 17 46 40 86 10.8 75.2

18 | & W #& 42 43 85 9.6 75.4

19 | 3 8 & = 40 50 90 14.4 75.6

20 | & &5 & 40 44 84 8.4 756 | %
21 8 H # 44 45 89 13.2 75.8

22 | [ EB IE BA 47 46 93 16.8 76.2

23 | R Il O OA 34 40 74 -2.4 76.4

24 |5 B E H 41 38 79 2.4 76.6

25 [ BB & BA 48 42 90 13.2 768 | *
26 I Bk H F 46 49 95 18.0 77.0

27 [k AW X 44 42 86 8.4 77.6

28 [ B % 49 49 98 20.4 77.6

29 1§ H ® X 44 47 91 13.2 77.8

30  JIl 8 #£ B 49 47 96 18.0 780 %
31 B IR OB O 49 46 95 16.8 78.2

2| = % 8 X 51 44 95 16.8 78.2
V& B E X 45 43 88 9.6 78.4

34 B B = B 48 52 100 21.6 78.4

3B | I K M = 53 52 105 26.4 786 | %
36 = K O Oth 45 42 87 8.4 78.6

37 & K B 1§ 51 52 103 240 79.0
N EH F E 51 58 109 30.0 79.0

9 MNEREB 51 50 101 21.6 79.4

0 = B B — 44 57 101 21.6 794 | %
EtEmREIILDE 47 1/2 R—2
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By DEFEIBEL : F b fELA—ILNo. 1 3 45 8 9 111213 1516 18
BB K # | ouT | IN |TOTAL HDCP | NET & %= |
“a R ETFE 49 55 104 24.0 80.0

2 RNl 2 R 52 57 109 28.8 80.2

43 | #E B IR 45 50 95 14.4 80.6

4 | Ih W WK 51 55 106 25.2 80.8

45 EHBEEEH 57 57 114 31.2 828 | %

46 B R R O 50 58 108 25.2 82.8

47 | B B IE 50 50 100 16.8 832 | %

48 & 1B 1B B 63 61 124 34.8 89.2
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